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TR TR §) A picce of paper is folded ang
Part A :General Intslligence & Reasoning the question figures. From the given sron o iy
indicate how it will appear when apencs - Pes,
W % : e R o i ey v SEferat & R Semr e iy
Question Nos.1to 3 ST T WA ¥ AT A B ey hm
yAswAdIaw M. Tt
Directions / 33 Find the odd number/ letters/ worg
B e el # 8 B Faay Fe we g
1)
AYHIVW B) FGKL
EJ&CDF D) TUCE
2)
A)Cricket El- hess
|7 8 el
C) Foothall D) Hockey
v §) If'LONDON is coded as MPOEPO. What code is
needed for DELHI' 7
3) afr 1.GNDON: # FEMPOEPO 2 Foa e &
i DELHI # frg g # forar s
A3 5 B)j17 *
A)DEHLI B) HLDEI
c)13 pes ®
C) EFIMI DJERMI
4)  Some equathons are solved on the basis of certain '
system. Find out the cormeact swer for the unsolved 7}  The toial age of a mother and her duughter is 60 years.
equation o that basis. The difference between their ages is 30 years. Find out
5 7 Tl oMY 3 U O g R e ) 5 the age of mother,
T O B A R 10 9 T Seeid g A 3 el of fr e g 60 A B IAE WY F
R 12 % 9= 810 and/HR 15 x 9 =513 T 7 37 30w ) Ry g T A
then/ @ 13 x 8 =7 A) 40 years B) 55 years
A) 104 B)410 )= 55 o
C)45 years D) 50 years
C)4li 401 L,
} i asa soad
13
tLEy = %Tﬂ o
svd 1B s -,ui:ﬁu
5 b —
9AS — fﬂ’l FLL!I 1-_-_-# %o
j__!,..-—-—-'" ~ = uy
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part A :General Intlligence & Reasoning
Part A 80T
— Quiezion Mozl o9
TP AEET 8 & 0 7N

pirections / W A sertes is given with ane tam
milssing. Owf of the favr Er.fl'urrEtl'm. chooss tha
atternadive that will cormplets the senes.

e HgFIT B B v rw g g & | By oo
g7 [AFeat & & aF BEer g v 5 saee # O

e

8 LLILILIY
s Bjaz
C)34 D) 33

8)  BKS,DIT, FILs, HUY, 2

WM : B ey gt whe T

10} Ome or two statements are given followed b e
Conclusions/Assumptions, 1 and 11 You have lo
consider the statement o b true, gven iF it seems 1o /be
al variance feom commenly known facts. You are o
decide which of the given conchsionsassumptions cam
defititely be drawn from the given statement, Tndicats
¥emir inswer,

Statemeni:

L All Mayers uwre Singers.

1. A1l Drancers are Singers.
Conclasion:

[ Sore Singers are Dancers,
I1. Soatve Duncers are Players,

o g FEeeg BT v E e s ar
Tl ATy 1A 1T TrEmer 7 o R
we & T TEEe wew ¥ o ow e
Al et # e wEE Enr Bl e el

A} IGL B I0ix F4T E, e o aveeg & @ wlamr BEaw
C)IGW DUX T H W PR B o aw b
o I = WiEe Fifdy
T :
L. i s I
11, Bt v T
Fopepek +
}Wm“ﬁﬁ E
il e R
A} Only conclusion 11 B} Boh conclusions 1 &
inllows, 11 fialloyr,
iae o 1] e 1 3 0
R R #
C)O0mly conchesion D} Meither conclusion 1
follows. nor 11 fallows,
= P 1 it e | A Ay
[GEEE 1 e i
PTO
P-5085/30505(8)
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Part A (General Intelligence & Reasoning

AQ201T

11} 1 a mirror is placed on the line

MN, then which of the

angwer figunes is the right fmage of the given fgun?
e, o T B N Y o = o &Y I el

| A A e g e
e i

Qm!!tlnn Flgure [ TH ﬂ'll-ﬂf

AnnHFlnumrm
. I|
DL

12j Fiod the missing number froa tae grven reapoasss,

T % | T ;
610088 ik
44) ook - Literature - y el
- T
gi:ﬁﬂ'l IE!??H Lh Sk
J{i} g D(B} Dancer : Musiciy,
AT FTE s - T
D) Species : Science
C)5eng. ! plusic ,
ot Tl waTTora - AR
? et \
15) 21:3::5?4:_ &
A) BT By
n) BHE] c1
aa %
"
16) Cilant : Drwarf o Clendus : 7

W:ﬁf;;gﬁm:?

&

oo Heael
G Idiat D) Wicked
7= =

Chonse the comeet Venn diagrm which best 1llestrates
the relafioreship @nong Hockey, Cricked, Games.

?Tﬁrﬂ##wmmﬂﬁv e Y et SRR e R, P, el ¥
1. | g e e S g @
' b
_'j::.j_a d4Z K4 [44p T
aF A2 B | ﬁ("_j :J{‘m @
,{f/ c)9 D) 34 I R , |
A} B} C) [#]

al Gerestion Nos.13 fo 16
g T #8aAT 13 16 7% 18) How many thangles are fhere in the given Mguns?

Directlons / A Select the refated word! fetfers’ & ey # v P £

neambar fom the glven sitamalives, A i F

B o Beesl # § qralRem iey Ry sew a

Fi=T] .

13} TFE : EATR ' SEAT : 7
A) TREA B} TESA
C
FITEAS D) THAL A) 16 BIs
T_& As c)8 D)1z
P.T.O
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gt Fﬁ,,...-.nnbamn-nu- & Reasoning AQ2017--6610088 ““mm_‘
part A BenerE T

19} Wik o ol the given responses would be o

22) T’ suarted walking siraight towards South, He walked a
nhF-l“i!"-H-ml order of the followiig? distance of 15 metres and then ook 2 it tain sl
1 Culling 2-Th . 3-Meguable walked a distance of 30 metres. Then he ook a right
4 Market 3. Cooking turmn and walked a distance of 15 metres again, Z i
ravest Pt 24 3 witer- g T oy o g e} facing which direction?

7 T e e A 'Z! o ETET R % e e i P ag 18 e
e LA 3w o A e i i gz 30 e = o aw e
LAFR 5. TR *j.:'ﬁ" HH HET |5 e o A 2 e e i g
A2 4,53 B)5.3,2.1,4 TRy ¥

A)North Bj West =
)3 .5, 1,4 JEI]i.H.L:’:-,E gt - [y o
C) South D) East vy
20y Ot of the four words given, choose the ward which i o 5
cannat be fonmed using the letters of the following
d,
gmmmﬁ#“mmmmﬁ 23} Which answer figure will complete the patiern in the
guestion fgure?
m:m&mm“ﬂmm“““” e H It HIpTe W HETE & Wi g
A) AT 2] NATION !
C) TRANSMIT D) TRANSIT Question Figure (W6 1T

Ouestion Figwre | 95 #rgTd

21} From tbe given ansawer figures, select the one in which <\
the question Tigare is hiddenfembedded.
& 7 Ty wRETerET f W T Iee M # g / '
ot e T P N
Answer Figures | 977 STpfoal

=B | || B

Al -B) C) D)
Answer Figures | 3% Sl
SR
N
A) Bl c o
P-5085/80505(8) Fra
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miven in any one of the altematives. The sets of
numbers given in the altematives are represented by
twi classes of alphabets ag in two matrices given
below. The columns and rows of Matrix [ are
numbered from O to 4 and that of Matrix 17 are
numbered from 5 10 9. A letter from these matrices can
be represented first by its row and next by its cofumn,
€., ‘A’ can be represented by (0,44 etc., and "X’ can be
represented by 78,97 etc. Similarly, you have to
identify the set for the word PICK.

T AT T o G- HAE S v i
R E s EE T SR S —"—
ﬁﬂrcrmliﬂﬂr-mmﬂhimﬁapmmm
B St o et R ame 2 siregt 4y s 1
T A O i g Hadrak ¥ 3w ey
EERER LE o E T —,
ﬁﬁmﬁmﬁmmmﬁmmmt
FETETOT & T A 1 00,44 T EEw e
m!m'x'ﬂmmaﬂﬁmmﬁmmm
ﬁmmﬂmqm‘rmﬁﬁwmﬂ;hﬁm

A MATF&I.';:I-IL
0[1]2 EE__}E.E 718]
0/AIRIBICIE|[5]K|P[1 L M
(1T HISER|[6[XW Z M g|
(2 RIEHID|S|[7/F[1 KX P
2 SIDIT.O/Ci{8|GINFlL W
a[E[B[O[RA|[9[N|P|XIZ L
A) 76, 66, 34, 98 B} 63, 67, 43, 65

) 56, 76, 34, 55

D) 76, 67, 34, 89

b ConfSsctoruum

25) jfp "+ ') denotes ', B denotes '+ and §
denotes ', then 181 2P4R 556 is equal in:

TR P+ FHERE, Q% FHTEE, R4 HTgTEE

sart A ;Guneral Intalligence & Reasoning AQ2017-6610088 % - gy
e

24) A word i represented by only one set of numbers a8

=y
MRS - = gEw § at 1801 2P4RSS6 FEEE Ty g = =X RS
gt L
A) 65 B)i6
gs3 D) 34 [g*g__ 2+-Y+5-6
Ty
PTO
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g : Numatical Aptituds

syt Numerica Apttude
W ST

26) I and W are positive insegers such that a%- b= 19,

finest the value of ' 15 - g %
o 1 YR T B IR Y b= 19,
=fy ! A T yot

B)19 v W
A 4
g X

) Afan 15 Jisted 5t %150 with 0 discowmt of 20 %, What
additionsl discoun must be affered to ihe customer o
Hingihsn:lpm:nnﬂﬁﬁl'-?

Mﬂﬂraﬂmﬂmmrmﬂmuﬁﬁmﬂ
ﬂhmﬂﬂmaﬁﬁﬁaﬂﬁrﬁmﬂ:m

ra T108 ¥ T
A)15% B} %
Gy ) 20

28) The mdius of a circle i incressed by bie. The
percemage increase of its aren is:
el o o T 100 oy & Ih &) S fEEe
# T uitnm & oY deint
BI2i%

c) 1%

B)20%

D) 1%

29} 1fthe ratio of aress of two cirgles i 4 9, then the ratio
ol thekt circum ference will be:

afe & gt & ST 8 B 4 0 8, & e

AQ2017-5610088

T W HAETE wiy

e e

30} The averzge age of 3 stadens ; P
age of 20 other staderts 14 msum?unmd saii

total mumber of sodents e e e of
ST 3 30 % 1) o el o e g g

'&111 Wiars

B) 48 years
4k ah wk ﬂ;:

C) 25 years D} 50 years \ L%F
15 EEﬂ* 3

31) A fruit selles buys 100 kg of superior variety of
mangees at T45 per kg and 200 kgs of inferior vanety
u Tdd) per kg and sells all the mangoes ar T45 perkg,
The profit percentage of the frat selier bs:

vk o v el T & 100 BRam. 3m 245
v i am, B zr A wde § iR po ot e
mmzmﬁ#.m.ﬂmthm
o wE w as W R a5

et i T e W Eg uyy Mo
)y 2 B)12.5 ?@F
g o [#]
(;;s D} 25 ""L'F-n"

=

o - -—
32) A ceriain number of men complete a picce of work in
60 days. If there were B men more, the work can be
frmashed in 10 days bess. The nusibes of men originadly

CF
wo wEH el Fm w s R A qm e e ot
TH A 11 & FEA W & T @ & ag oo

Tt oE g o T ) S A o st

A S /AT 1T 4 w68 = (A )Y
YRR S SR £ A)32 _Bjan  eN= L] N=
Ajd:8 Byid i > "o
G)3:2 D)9:4 " i = “nﬂ
M The simple inderest on & sum for 5 vears is “1 5 th of
the sum, The rate of inlerest per annum is;
et i oy 5 vk & T s s 3w T
Ll k_g’g,&t?y 35 1 ey e v T g
Ml w B) 1% ﬂ':g
%‘ﬂﬁ‘ =1 /-2 wemft : %’ 3
"&£ 9 }12% O &% %
B> 1.:&‘1‘ 3c \3]5"
=3 ﬁtl- > Y
P-5085/80505(8)
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part B : Numarical Aptitudg

___a0a0t:

M) A shophieper sold TV set for 717940 with o dissaant
af 8% and varned o profit of 19,6%. What shauld bave
Beem 1l percentage of profit snmed if no discount was
affere]?
et e o g B A, o Rt B
TITMD T Her it T O T 1960 W A
BHT| 4 3w S op e st A & A gt
Al 5 e Wi wmr g dta
A3

B} 24.6%

L B WL n:l 245

35)  Atwhu Perocat above the cest price most o persin
Tark: the price of an article 3o Ut e can enjoy 20 %
Prolit afber allowing 208 discouis?

W o - AT ATHEY

.

ﬂ 1
100 ) ;5 a distance af 12 kv in 10 mimwtes, £
an o l“ullj ?;vmﬁmls f0 i8S a telegrph post, then the lenpih
Lok T 555
in is:
i:;’:::ﬁlﬂﬁqﬂfﬁlﬁﬁiiﬁ.ﬁﬂqmm—tﬂ
ﬁﬁ%ﬁﬂﬁﬁﬁﬁmmﬁgm
ﬁ.mﬂﬂﬂmiﬁcllﬂi' - % I'w“;IH:‘
E]E'I:Im [
-1 iggﬂ o} FHeT L%
|
D) 140 m
G) 1o m 3
1on #ET 140

38) A wpherc has o wen] surfee wrca 9TTem? | Its volurme is;
Facelt 7t =7 et RO TR 9Tlem? & =i T

e Adge 7
ﬂ?ﬂﬁ?ﬁﬁﬁﬂ'ﬁﬁﬂhﬁ#mmﬂ ; B) 18 e
P wianr I e iR EY B s Al 3a0lem
eple  20% T G F vvmmm ot 20w oo DER .P’g—“mﬁ
5Pl A% B) 30 % )
HPE -, - . ) .
L Dy 40 % @ I'he population of a cily incbeases at the rale of 5% per
antiwsn, If the present population of the ity is 3,70, 440,
AB): it b liz population 3 years ago was:
" MAIMEALs: an aven ced n »
howr, it arrves g s '5|:=‘.I2i]1§1=r|$€1 IE_‘ :h:sl.tk;:#:jf ﬁ?ﬁrmﬁmﬂ'j% E‘Iﬁﬂﬁﬂﬁ”ﬂmm
]“’f““‘f';"“. “"mﬂ“_r'“d 35 M km per o, it =i 2T T STEEAT 3,70,440 g o T
arrives L3 mimutes bate. Find the lengath af the jurmey? :
g J E, Reeg T st 40 A R LT3, D) 30,000
5T 17 T S T e | e il vied
FATET AT et e i 40 -.]1_11.-. Izt numbier if five digits exirly divisible by 85
A)210 km Bj 205 kun o ,
Jmmm_ e ::?qﬁeﬁrﬁa?m FET i R & aeTE: fasrey g
(KF: 2
C}219 km ) 200 o B) 10023
v e 2, 200 T, =t C) 10E32 D) 10033
g AR 2% )m_nmnk-.g
CE o @ v s
i) = e, \ 57
52 " g %3 T
. ™Miz HTTUeS - 1efoe " kY —
q?z% et pi-* EEI
- A4
- Rtz ke
P-50B5/BOS05(B}> Q3 I 8 ey &
& T T ED
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" Question Nos.41 to 42
T FEAT 41 T 42 T

umﬁnrrs.-'ﬂfw: Tha folowing bar diagrim gran-:a :

I iis Hho sales of deris (1 laihs) it 8 dﬁpﬂrg:;?ngl
i From Apat fo Aurpeest in Hhie current yaar. Sl
:ﬂrfgmpﬁ and answer the fallowing JUasiins WIS
{he dara prowied (TEE. i
afeET i Tt & ft oA e

o af#&r#‘:f#&mﬁﬁﬁaﬁf#ﬂﬁfw#l
G T T T A ST BT T
.;-ﬁ'??."-i'-'-!F? T ETiATE v I &

—

T

|
I

aj_ §
| IH II
Rl
‘I
1

:Ml-ﬂ-.f‘ﬂ{hhmfmﬁ]
¥ & B
—|—1—|—|-'-'—|-

o A bt d

41) The sules in July & hew mery firmes b sales 1o bday?

g g g T v g o T et T

AD2017--£6610088

T T ST =

A43) A s of water weighs o kilogram, a lige of onedbet
liquid weighs 1,54 Kltegrama, & ondsiure of the twa
-u.-uﬂghﬁ 1270 kilogrems per Litee, The nwia of helr
volumes ina fitpe of the mixiune is=:

T Tkt S BT e U s i v T
U 3T B T e 1340 PR & afy o st
1 e far ST At = AT = 12
o, =i T o e & v TR TR # Zek

=] I T AT tngeft}gzju
; 7037
AJ27: 34 ﬂ ~

o7 L7 o A

CpI7:-24

4 ‘ari frice ab Thd per
A erchant buys Z0 kgs nfa variety o :
4 kg and amsiher 40 kgs of rice at TAO per kg. He mises

iher and 2clls 1Jr3 ol hs miture u‘l?l?_..ﬁn per kjr. Al
what rate should he sell the renAining fixiune 50 8s 10
eurnt @ profit of 25% on the whule outlay?

aﬂ&mﬂmﬁaﬁﬁmtzﬁﬁmmﬂwﬁ
ﬁﬁ.m.hﬁrmmmﬁmﬁﬁmﬂuuﬁm

T T o far . B e o e I
oy e 1 vy 4 T e 31250 WY AT
a7 rr AT i e v g7 FR AT & for 3
et oD O 25% FEIN AT

A)T12 ST15-
FEE >ady B )1 2.5k D) T
A 30 B 0o
5 rnan sells an article at a logs of L0, IF ke had seld il
E}E " ""p': 45) ?EII ;—:.-n::.lmﬂ;u_-_ widd bave _gainm.l 20%. The gost
; iy sale e e yo o price of b arbiele is (i Ra): <
42) Ih:uvtragﬂrﬂ;ﬂ L 00 #EﬁﬂjﬁnmﬁﬂﬂﬁTﬁﬂﬁ
et e @ﬂ} ; -l Sgr TS ST o AT AT Y 3R 20 =H B
=2
Ajétd e (e T ] A (T ) A
b A) 225 B0
720
C}as0 £ 5‘1’% _onso D} 150 |26
ﬁ 4-!'.Jt'.'--._.v---"""‘l
4 -9 5
s ra%) gye  g18@ Bo=""yo
agodo =¥ ( EL‘E_ . © 3T
% rﬁ;ﬁ,ﬁﬁxﬂﬂx’ 1 “ar
U = R e TR RokI(Yy nea T
% [ fah o ____‘-{ﬁ gt g
1o =t EFs,
%ﬁ,ﬁ/ | 168< Ej Jﬁ'i-}&"ﬁ'
11 W3Yo (55Y =
g4 IO EY e
i Y ¥o SGE=LS S
P-S0RS/BOBOS(E) N T ‘?t - M ar FFE & i}% 1;1 @_}_ﬁ_ﬁ
ARG ﬂ:{‘%‘ﬂ A M

Scanned by CamScanner



- Numerical Aptitude
partB o

AC2017-6610088 _

NI o : Wy Ty

46) A person spends 25% of his annusl income an house
reit, 15% on education of children amd 45% on athee

items. I he saves 14,400 wnnually, then the peesan's
total income is;

aﬂgmﬁqmmﬁmmaﬁrzmmmﬂ 4
ﬁ:rrnrw.w%aqmmqﬁrﬁ‘rﬁrmmﬁ%m
mnﬁﬂtﬁﬁaﬁﬁrtnﬁaﬁa&ﬁm;mﬂ

T e ——
50) O the three numbers, the first is twice (he second, and
the secnnd is twice the third . The avETuEe of the

reciprocal of the numbers is 112 The numbers are:
mmﬁ##mmmmaﬁrma
I 2t T S T i et ) Hma
=g 1 8T 112 ¥ Fant

A A A S o 4 T A)20, 10, 5 B4
AYTOR 000 B} ¥1,00,000 C)36, 18,9 D} 16, 8,4
C}96,000 D)TL 20,000 R a8 &5
B # i
Tkt T =10 2s 1S 4¥&
47} The sum of the present ages of fither and son is 5 :
years. 10 years enrlicr the mytig ol their apes was 5 3, “F g=
The present age of the futher is: i M o Bl 4
ﬂﬂﬂﬁm#ﬁﬂi#aﬁﬂﬁmﬁrmwﬁtm n LR . 5 -
EL \ L
ESEEC R C ERPEE Tt S e P ——
T 37y Az Laloxl o= 2% 12000
A)65 B) 6t ; L
3
€} 70 Dy R4t TETf =% ) )
fr5=o0 o i *”ﬂg—_‘m
48) A can do & piece of work in 5 < and 18 in 4
HﬁWl-DI'IEwi.”U}E;Iukc[::ldﬁﬁﬁmﬂ-xk,ﬂ;}:{ P-lo e Rl @
working together? :
Aﬁ?ﬁrmﬁrsﬁzﬁ#ﬁw&mnmm s f he S
4 R T T A 4 2t By et OETE as
ey fee & w5ty @
Aly2 ), 2 be%f — ¢ =x
: 5 Amsg =g
=S 'sh.-'*:’l."-:-
Clyt D)% - g =150
“ b Toe =
-~ O N
} “LE" L . SR W
43) .1.||r2 nf.-"'|.=?.l'|5uf'|':'|'—R‘E-fo.',ﬂl:n.ﬂ:ﬂ:fix; C= £ = i i
e Yaota=25orR-Yaorc. i A-B i te:% Ly
n =t -
BEE st
P.T.O
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f fixed lines, ete, Expedition I‘rll:l-l.l'l_l:liﬁntﬂ still
mqr.};:}u ekl sets of the alpine @ , excepl they

with even bigher altisdes, expanded time
b mare severs wesiber,

Tomget outes, forelgn logistics, T .
n'rd:dlﬁl.lﬂnil gkills umigue to expeditionary chimbing. ']'1_1-:
e climbing in the Himalaya is

glence of expediti
e pature of the moustains i the

I 8
mﬂrmﬂimﬂmem1m daya or

wepels 1o lrek to and Himalzyan mountains can take weeks
or ven manths 1o climb, o large sumber of

il amount of sapplies are mﬂﬁﬁli ]

wihy expedition-style climhing is fregquently o largs
and isolsted peaks in the Himalaya. In.Eurppe and North
America thers is less of a need for expedition-style
tmbirg on gt mediam-si ins. These
meonntains can often be exsily accessed By ear or aif, arc &

jower ahitude and can be climbed in & shorter (ime scale,

51} Which af the fallowing is true?

A) Expeditionary S Must mexlum-sizad
climshing is popular in [penks in Europe ane
the Americans. acoessed by car or asr.

C) Himalayon base comp DY) Eueopean and North
tredes can be completed American mountaing
in & day or fwo. fequire expanded fime

scale for climbing,

52) What necessitates the huge amount of supplies
and lange number of personnel in Himalayan

expeditions?

A) forzign logistics B} low altitudes
,EJ"WM Lime scale  D}severe weather

h candition

33) Which of the following style of mountaineering 15
considered o be slow and heavy?

A) sparts mountxinesring B} expedition
moustainesring

AQROIT-6610088

T T - Wy el

54} ‘What sccounts for the grester prevalence of
expedition mountninesring in the Himalayas?

A plavier airplanes B the severs weather
congition
the specific nature of D) multiple carries
Mo hetwatn camps

55) Which of the following is best undertaken as
expediion mountainsering?

A) mediume-sized __ﬁ}:l:lm time scale
maumntaing mrurtainesring
C) peaka in Europe and O} large and solated
Marth America peaks

Cuestion Nas.56 o 58

Directions : Four atfarmalives are given for the
IdiormyBhrase undedingd fn the senfence. Chooss the
which best expressss the maaning of the

ifamPhrass.

56) John was g5 good a5 his wond and came on time for the

& meeting.

A)convincing _B) punctual
C)able to falfill his D) a promising young
promise Frisi

57) Hecame to work looking very off colowr,
i unl
A)tired _B)unbappy

) warried Djyin

58) I was agked to take a hike for o comment | made.
‘_A,}htquwt B think

C)leave D)take 2 break

Question Nos.59 fo 68
Directions : Seniencez ghvan with bank o be fifed in
with approonate werd(s). Four slfematives am
suggested for @éach question. Choosa the most
aitemativa ouf of the four and indicale i

Approprishe
mﬂi‘m‘gﬂrﬁ coresponding circle in the Angwer

- : i . __H_H‘-H-
C)aipine mountsineering mfﬁmm | ,ﬂ b ' E:ﬂﬂ{ JTI::A{B}HUP‘]'J
1 = _._'_'_'_'_-_\_r
BT.O
P-5085/80505(3) 1
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part C :General English
_AQ2017--6610088 J—
89) As soom as this ; : —
ol workshop is m-'l.‘:r._I am going to s i s G e
— every duty and go on a holiday. 67) He loads S
A sidetrack .Ejabandmt A) huskess _B}bles
I
C) overthrow D) clorses alewin O bampcles O} mmdles
) }
i hich iz not against the nature
B0} She  greatpleasure and satisfaction from B8 _.-.,1]:.-1.i1|r.|g, j5 W
coaking. of {hings- N
A) wants B} has A} procticable B} para
D) poasitile
Lo draws D) derives ¢} probable ;
61) Poctry isa form of expression in which the
particulanity of the word and the image 1@ gvoks
feeling, assumes great mporiance.
A) supprosses B) patromized
-'gjcmnprﬂw.‘ad ) digresued .
§9) Thenearc acugmﬂ_m_ai!h_mﬂlia'.ul'ﬂw :
itk contempd for the prisonsf . - &
e :i:\jt“l':ﬁ;;vfg?:i *;-’1131 ) IT‘:IEE Mﬂh‘m o either sidesd B)&o I pECyEInETE
T isi - i & om-either side
}]humi][mcd Saeieive gy school on cither side P_js:;hn:u:lﬁ-a o cl
) pitving D} huziful . -
}F m; }{mr }m have pﬂﬁﬁ'l:-d ST h‘hﬂ hmu_u\-igq'
@ Nk SHKmE 03 golng____ampe i Bha mprovemeEat B} hos bewams froe
A)to A} for -E]h&d hecame free D) become fice
C)on L) oo
= 71) W goted your ngtmictions.
W) e fuliets__SHIFX ol Ajacted over yoif _E-]al."ltﬂ U your
most loved of all times.
A el Bhoovert C) No improvement D) acted your very
il 0] clantdesting
i T2) Assoonas] called hier, she came out of her house.
§5) The__ _ towards the schowl was very sleep. A}is coming out _B) No improvement
&imlld Biml’ll 1. G:'i.!lllﬂ': ol D]]'I.ﬂﬂ come ot
) assent D) aceent . |
= it 73) Coding is nothing bt putting up infesrmating in @ grven
d B fiormidl-
' 11 ! i isCUSSTOn
BE) j::“mi E;mlmg matlers i our diSCUSST A\ illing wp Bt
Ao B) g0t up C) organising D) putting in
C] came in D) et about
P.T.O
P-S0G80500{0) 12
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g genartt EC 0 : Wiy ety
part - —stion Nos.74 to B3

Qu
; & part of the senlences have amors By 4 .

pirections Efar;mgra Gind cut which part of 8 ’ mﬂjf 815 Students ire udviseq g g
and ﬁgamﬂgpir; an evror and biacken e oirle N Positively, emd the

T ing fo the appropriate comect Iili,ﬂﬂ-ﬂn’] fa A)atlend the meer;
%’m i e from error, biecken the hgfnﬂ positively, ey B Ney ey
o ; ‘Mo Error” aphion in b swer :

r noing fo 'Ne L £ Al thee girls siudens D) e sdvised 1
Lhesl

@ Could you please maintain silence for 4 while?

82) The thicf had nardly put the cagh iy nis pocket

) plense maltain sileace  B)for a while? e
N ]
G Caould you Dy Mo error i i g
C)then the owner woke D gt the cagh in big

: Lji, 1
75} She hopes Lo become an engineer after she will ' Pockes

complete her education,

B3) B [ ti -
I A} an engincer allershe B will complete her } Bengal tipers are now almost extmeted, ——
. eduaion, A} Bengal tigers Bjare now
I C) She hopes to become D Mo emror
C)almost extineted, D)Mo error
76 Kindly pleass direct the ourists to the muscum,
Question Nos.84 to 86
&) Kindly please B) direct the tourists Directions : Ouf of the four altematives, chooss the
ong which best exprassas the MEANING opposite fo
) to the museum. D) Ma crrar ihe given word,

@' If wou stand with me in hour of need, 1 wall never

forget vour,
stoatter

AjNo emor B} T will never forget you.
A) store [
C)If yau stand }“wm e in hour of ; ek
neesd, E_jhnﬂrd D) collect
TH) At last he marricd with o poar girl
- B5) peak
A) Ar last 1 ]
B) e married A) inferioe B) deep

C)Ma erar H!wiﬂl it poor girl, ) mount Ej}mﬁﬂm

79} Our team played 4 foatball match. 86) despai
espair
Ajplayed B) Chur team AJhi B) sortow
C)a foorbal| mah A
5 DI No errar C)repai D) empty
rcpair ¥
80) It in better in gl
at T

it g Taming, 4 * 1Al g0 1o market Wi

AJwhen it iy raining, B) Mo ermor

C)Ttis bere

i Tio sty at _Elﬂ‘-ﬂl'l £0 0 market
_—_-__-___-_-_ _-_-_-_.'_-_-_-_-

P70
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ifi is dead.
Question Nos.87 to 89 93) One whose wife 18 422
Directions : Oul of the four alfemalives, choose the S B)spinster
one which hest axpmgses the maaning of the given A) _
word D) widow
' c) pachelor
I
94) That cannot be ﬂplﬂ.‘il‘tﬂd-
@ Exactly A) intolerable B) inexplicit
A) Different 1 L) Precisely ) imevocable _D)inexplicable
C) Similar D{}Eme T 1md
5 given, ouf of which only
Directfons : Four words ans
B8) Answer piE mﬁmw, Find the comectly spaif
wiornd.
j}ﬂnﬂpmr.: B} Speak L
C) Question D) Rt
B9} Pain a5)
i hier
A) Comfort B) Vibration A) hiar B)
©) Ache D) Throb G)heir D) heirr
- i
Question Nos.90 fo 94 .
Directions : Qut of the four atermativas, choase the i _ '.illl:nn 2
one witich can most spproprataly substiiute fhe A milendiam _E_jnu 118H1
s - G} milenniumt. ﬂmll]miwn
a7)
80) The centre of attraction. .
A) hygene B) higens
Acynosure B} focus -
) hygiene D) higiene
) custodinn O} povinit
98)
1) The murder of cne's father, ;
:-)Envcmm-:nl B) povermeni
_#) patricide B) homicide
C) guvernment D) goverrment
C) fratricide D) regleide
ag)
8F) Overturm in woier,
A)skeem Bl scheme
A drown B) swim
C) skeme D)sceme
C)wreck ﬁ}f@ﬁiﬂ:
P.T.O
P-5085/80505(8) 14
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part O :General Awarenass PP LA e S
R R 1'HH]' K Iﬁaﬁwlthmﬂdiwlm WEI}
bt O 1 L A

101} Amrita Shergil was o famous X
FHA T v offg L

ﬂ'-‘intﬁ B) dancer
T Aadr
C)actress O pairer
ENECE e
102) The highest plateaw of Trndin is the:
WA ® Fad S0 gan st i
A) Chota Nagpur B) Malwa
BIET AT ATHET
C) Ladakh D) Dhevcan
o firofy

Bilr?

103) Which of the following clicits the Public gpinion on 8

et Py o Fee T # & Tk T S

o 7

Al Server B Browser
I!l'!h' i
C) Wehsiie n:’Lif'k

- A Rer

1 the crown of 2016 Miss
Katherine Espin who won
107) Earth belengs po witich eounmtry’?

Covar 372k 2016 37 AT SiTee e AT TR fig
T Y

A) Codumbia B) Phillipines
e forirfrmw

C) Ecundor D) Veneruels
g g

108) The State with Inrgest gap in male and female [ieracy
i5:

g v AT AR 7 FE O et A ey

i Sy e b7 SErarhr.
A) Referendum B) Recall Rajasthan B) Kerala
A TR TR ﬁ : -
.Ej:[-"l:ﬁianih? m:;ml“ C) Urtar Pradesh D) Madhya Pradesh
i T wY e i
104} Biogas is formed through ;
a2 s =15 109) The law of demand states tha when :
. w1 o wen &  aa
A) Fermentstion B) Reduction . —— i
r— T income and price rises price rises dem
. . . demand rises. risss.
cmmwm D) Oxidation P T O iR L
P ' & w8 == i s
105) Hepatitis is a disease of the: e i i
pirrfen frwhr Sl price falls demand IfCme rses |
Bt 'SJITLEH rises.
A Kidney B)Liver fra i b dram T aee bt Am A
= g e .
C) Heart D) Eycs
L ki
P.TO
P-5085/80505(8) 16
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ot AWATEE
yp B g of ot iron in its metalhurgy

+farm coolin
118l m;;“: :'L
15K ; i T
* 3 ey 7 Y O AT Y ]
[ :
”phiﬂ'lﬂil B) annealing
i GIIGHIEE
Cjguenching D)rempering
Ll g
{1 Frelpruity mEAIS:
A
ApUrity snd Integrity B Eliminaticn of
T T HEET Economic hustice
i Fam =
CEriT
) Fatherly tmeatmens D) Spirit of hrotherhood
T S gl
112} The Pallava dynasty had their capilal at:
Tedd T B A0 T S
ApEanchespuram B “engi
TR LEu)
" L) Madurs D} Thajavar
bl T
1 India sigmed the Paris Agreement’ om 'Climatic {hamap'
in Aprit 2016 al;
HI W 3O 2046 7 Ty wiad=r 77 A
THEET U1 o o, T
A e Delhi B} Grneva
5 e AT
C) Now-ark DY Parks
A o

AQ2017--6610088

T 8 : T et
_ — T
114} Nek Chang Saini's

ollowing gurdems: 1o Wit whic of he

wiEvE e A o fafag
A R amy
. T3
A} Shalimar Bugh Rrowck
; - Larden,
Srinagar - Chandigarh |
WelAR T, e TF T, g
C) Vrindavan Garden, D) Hanging garden
-['rI}'HI:I['E Mumhbaj |

115} Which of the following sultans adopted Porsian
customs and manners in court:
ST o 4 R me & g A TR
Faraft i 3

A} litutrizh B} Julaluddin Kchilji
Heorr Tl A

C}Ealkan D) Alavddin Khilji
CEL ) WoEEA e

118) Wha convened the 'Congreas of Vieona', 18157
o i 3o frer, 1815 7 rravarey Py

j}Eihl'li'll'l.:k B) Muszaling
fFr == THTR
ChMesternich Dy Mapoleon Bonapsrie

1AT) o the context of allemntive sources of ciieryy, ethanal
s u viable bio-luel won be oktained from:

St & Sl Fet & st o st e S &

T H ZUTH o Ty e T 3w
A Patato B} Wheaa

3, L[ 3
C) Suparcane DO} [Rice

I AT

118) Hulond Crareasa is lealed in which for™®

ol ST=TaT 1o el 3 P iy
AJH.EH. Farl at Apm B} Red Fart at Tazthi
AT & A feer TRt o e T
C) Fateh Pur Sikn Dy Hawn Makal
FeiE IT HE [EIE LT
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part D 1General Awarengse

119) Distani objects can be scen with the belp of?
& i g R w9 iy T e 7
A} spectroscope E!tcl-:smpn:
R e
C)microscope D) cronometer
AT A At

@ Which country will host the undes-17 FIFA Warld Cup
in 20 TF

Tt a7 2017 3 3= 17 o awk w AT
FHA?
A} Germany B) Brual
T AT
C}iIndin 0} Spain
Jﬂﬁﬁ D)

121} When al! inpuls are doabled and & a result, gutpat s
dowbies then we have :

v T fvrer e B e, ity aRemR T
ﬁlﬂﬂﬂraﬁ‘s’raﬁﬁ,ﬁ’rmﬂﬂ?ﬁ?:

A Tncrensdiig TElms 1o B Constand netums [
scala, seale.
et Wi et PR Wi A &
& FAT ] FA &

) Drecreasing refuens to ) Momee of the opdiens,
e fam oy et A
FrmTe i ST I
¥ AN A

122) Twer gaseos melecules can reacl snly when they fiave
e
& ﬂ?ﬂwmmaﬁﬁaﬁﬁm T T £
A}energy B cotrapy
ot e
C) Free energy Dlemieniation £ sleric
el g e
wiEFrarg : Refw
L oRE
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fllorwing is the Wice-Chairmaon aof

123} Whis amengst e ;.
} the mewly mer:d MWIT1 AAYOG

. HETET f‘-’ g - !
3 B, Bhatino a
i ALAnYa
ﬁ ﬂﬂﬁ,ﬂd mﬁﬁﬂw Al ST
e D) E.¥. Kamath . _F'r-v
ﬂ};.;.r "-:ﬂl-d}‘ﬂ o q{;f

cegreh Cenire I8 [oeznted at:

Rk 1"”“”{'5
@j s s & T o 6

'i%'mm'ﬂ?f
|H-i|l:||.ﬂ1- E}Hhu[-ﬂ.ﬂ
e Rt
fml
) Srinagns .i'l']} Shimli
AT R

125) Brown ring tesl is ugexd for thiz detection ol .

quﬂﬁmﬁ;ﬁmwmﬁ#ﬁwﬁmm
g7

A sulphate FEJEMUT-“C
g FANE

C} plsosphule D} mitrate
HERE AT

126) The element invalved with Mlood clotling is:
o & S T T Fe-ErE?

A)Iran B) Phasphorus
At WERH

] Sodium O Calcium
T oA

127) Through which states does the river Chambal flow?

A A2 e e A B AR B

AMEP, Gujrad, UP ‘E}L'F', MP, Rajasthan
HY., T, 3 H. IH, HH, WA

C) Gujrar, MPE, UP, Bibar D} Rajasthan, MP, Bihar
T, 7H, 5.5, e, AW, e
Earg

P.T.Q



gEmm—

pa 0 :Gnorsl AREIEEE
§28) A hinged dood ix an example of:
xR ST e SEE ET
A First arder lever B} Third arcer lever
g A AT i A A
G} Cantileyer D} Sevond omder lever
#frEmT fris 9 o

129) The sub-marine of Inclian Mawvy s

gy e B EE A o e e
AP Wirat _IE.HHS Vikrant
THS T Ins TaRra
Cyis Sindlnrakshak D) THS Rajali
[Ns THEREE THS TATHT
130 Stories of Bwddha's birth and his previos lives ase
comiamasd i
T % et M I O S S S e
g i
;;I'l'rrpilﬂkas B) Jataka tales
EIREE T
G} Panchatanies tales D Triratrias
Here & SR Eer—t
131’ Thez hirssis fior determining the desmess allowianee of
employ=es in India is;
R # ST 3 HEAE He i e 5 s
FaT iy

A¥ational Income.

TCH 3T

B} Consumer Prce [Index,
FIHFT Fp
HEwIE

C)Per capita income, 0¥} Standard of living,

AC2017--66810088

ST ¥ ST s

132} In winter, ai the time of hibernaton, Togds :
breathing through: o bads emantain

Hﬁﬁﬂ.!ﬁﬂﬁﬁﬂiﬂ'ﬂﬂ,ﬂ?&ﬂfﬂﬁﬂﬁ'ﬁ?muﬂﬂ
w87

.ﬁ] Both bj" Skin amd

B)Skin
Lungs e
ERIRCR |
B |

C) Lungs D) Buceal cuvity
g Fow

123) The objective of Senmam Yeojana of the Soveriment iz
HEHT 1 FH A s i

To ensure welfare of

! B) To unitc vatous Hindy
handicaps & disahbes,

Eraugs
Tt v et e Ry magt =
=T ST T HTET ).
|
C) To muke Ganga water D) T imake Sangam
pullution free. regioa of Allnhabad
T Sl e ey O antractive for
lomste.
S SR & T
T HERT H AT
TEreR FTet e
134) Does the President of India have vete power?
o L o g A e 87
AN B) The Constitution is
silent om this,
™ =5 AL # HiEE
TE g e B

I E T GOty for maney bills D Yes
" ™ g Jﬂﬂm vt farEf & =
s
; : o
435} The Consumer 14 compired 1o i king vmede
} T B g T el e & i e
A}Communism M:ﬂmﬂ Ecanomnry
itales D) Sociunlism
C lezm
" %T:l;.’l TAETE
--_--_-_ ——
RTO
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HM o HTAa=
art D :Genoral Awareness AQ2017--6610068 - M
. : 440 In an inflationary sication, which of the ol
136} The temm Renaissance means: ) slalements is false for o country? e
eI 4 T w1 T A, St & dratag
; A) The Goden Age ,ﬂﬂ?'“ Braof Rellgions sy PR oar 3 ity 4 arorel &
o g S G ;
uTiEee gl & A)Cost of living rises. B} Prolits rise faster thyy
R WREEE,
) Thse Diark Age D) The Age of Feason, " Haedr & oA #
s T Enlightenment & Frer |
Discoverics AT TE A )
o, Wairer v w C)Vilue of money falls. D) Country's exporrs
. ke
— FaFA CUME TaTe
el i competitive,
137) Which type of fanction doca e analytical engi . v gl
nich type ol dovea tlee an engine
petliamT wiaTdar & Al F|
T o & o | function) TR 5o
oo Frar i 141) Which enc of the following stalernent is True regarding
Tabe ol imierest;
Al Lopical functions B} Arithanetic utshims o BT & mEy f DT & 4 sty
Aiw nitdire e
T T
C) Comtml fimctions D) Belateal Tunchions
BN ek S C— Al Bate of interest mpy be B) Rate of inicres|
BT, L reases with
EUTH &7 U BLOnommiG growih,
@ ¥hich ome of the followkng is o land locked coumiy? = ﬁt A 2% AR
TR A St R s A s
_ . - TeRTH i AT e i
A) Rusaia B} Ausirin CVRate of i
o ) ] vbnterest can ol D Bate of inleTest cannagt
| IFs ) # b rem, Tz determined.
fﬂndm f;::r:m. ST T A T g T 57 7 o
e T FET TR e
139) Ares which supports the sconomy and wpon frade ¢ 'hi T ;
sea port is culled its: Ja o M 3:::2;2;“‘:” following is an example of direcs
Forer £ Pl oo e 6 g
T SR W T s ﬁmﬁﬁﬂﬁ#wmﬁ'ﬁhﬁ?wmh
Frdrearer Y e = e e .
2 B village Panchays B) Cirnm Sahha
J econeani: mone B} sxpon basin U HHR U T
T & Frreiier AT C) Mistrict Paschayal
LRaYE 1] ‘ =
L) wnbarnd B hinter land o ooy ! n}xmm
1 .
43) ::?:I':'ME:;":'”E the frllowing not un olyripics medal
Tt H FhT W oz S CEik
"':':- Malleshwari B) Abinay Bindrm
Ay ¥iwg gy
Wil Gusty D)Moy Kom
AT T & wFA
rT.O
20
P-5085/80505(8)
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pat D:Wllﬂlﬂ‘.ﬂﬂl
in the
Walcr SIOMER e present 1
- FH farrdt it TE B
f margin
ventral surface of Leaf B)Lea
'Hurﬁt ¥ e T et sufse
Veins D) Dorsal surfsce of Leaf
ﬂmmzﬂ ol & 5 8
145) A persofl suffering from long sightedness wears
q:at:r,un]nhwing-.
i e T ST S S T 87
Convex jenscs B) Concave convex lens
Mm A e T dE
) Lenses with negative _P)Coneave |enses
P AW wH &
itfem o & AW K

The words soctalist and secular were mnserted 10 the
Preambile to the Constitation by:
st i ST # FAEEa 3ty oy e 1

e T g I
A) The 16" Amendment  B) The 427 Amendment
|6 & FeRT 42 & #ire
441 Amendment D) The T Amendment
44 F geirer 7 & wuines

147) A pressure cooker reduces cooking time beoise:
v § & Hiow S w0 gAY S A S

7]
A) the boiling point of the B} it absorbs more heat
/)wlatn inside is from its flame,

alevated, e e
TR FTED oy oy ity Ay
&g AT &7 -

C)the higher pressure D) the heat is more evenly
tenderises the food, distributed.
TEAAT &TE WIiF 7 FuaT HiE HAEE w9
HATIH &7 &t B ARETAE Sy
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BTH W ; ey ayrerty
148) A Compaster that | 2
eeps coples
reques iz known ,_Ep“ of responses and recent

mrﬁm#mm?mmﬂm
A} Mail Server

_.H'I'Pmlb’ derver
Gldava D} Web Server
T ke

1439) m:l:r;& reserved for the protection of the wildlife is
ca =

o it & waver & AT SmfE dm o s
&

) Sanctuary IB) Mational Park
T A e
C) Zoological Park D) Reserved Forest
ot e ST &

150) The largest part of our brain is:

BT AT W v e wtaar gy

A) Hypothalamous B) Medulla ohlongata
YR Hgar S

C) Cerebellum JP§Cerchrum
S5C FoRur

(oM Jﬁiﬁﬁﬁ-””
s
P



